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Response tables
> points = 100
Pts agree
ANnswers agree



QUIZ
FOLLOWS



(a) 1

(b) 2

arithmetic

14+1=77

O pts




d
— [xsinx +4cosx] = 77
dx

(a)sinx 4+ xcosx —4sinx

(b) (1)(cosz) 4 (0)(—sinz)

(C) xcosx — 4sinx

(d) none of the above =

0% 0% 0% i

Topic 0360 20 pts



a [ln ‘(:BQ 14z — 1)1/3“

1/ 2044 N\ 2/3
(a) §(a:2+4a:— 1)

4
(b)3 :U2—|—4ac—1

(©) (:c22-|i:1c4— 1)1/3

(d) none of the above

0% 0% 0% .

Topic 0390 20 pts



N x

l0g10(z) = ST

d
— [lo = 77
/2 ——110910(2)] =

(@) 710

1/x
(b) 1/10

(C) Inx

1/10

(d) none of the above

0% 0% 0%

Topic 0400 10 pts



Principle of log diff:

fl(z) =77
(@) [f()][(d/dz)(In|f(z)])]
(b) [f'(2)]/[f (x)]
(c) (d/dz)(In|f(z)])
(d) none of the above TR

Topic 0250 20 pts



el —1 —2x

lim = 77
x—0 2
(a) o0
el — 1
b) Iim
( )a:—>0
(c) DNE
(d) none of the above
0% 0% 0% T
. 10
Topic 0410 30 pts
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